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QUESTION 1

Exhibit

user@Rl> show bgp sSummary
Threading meode: BGP IS0 I
Default 2BGPF mode: advertise - accept, receiwve — accept

Groups: 1 Peers: 1 Down peers: 1

Table Tot Paths Act Paths Suppressed History Damp State Fending
inet.0
1 ad d a a
Pesr AZ InPkt OutFPkt outQ Flaps Last Up/Dwn
state|fRetive/Received/Aocepted)/ Damped. . .
| 192.168.200.2 B4512 8] [ i 1] 1:01 RARctiwve

user@Rl> show configuration routing-opticns
§ Autonomous-system 64512;
user@rl> show configuration protocols
4 bgp {
group Internal |
type internal;
lecal-address 1%2.168.200.1;

neighbor 192.1¢8.

Referring to the exhibit, internal BGP between R1 and R2 is not establishing. What is the problem In this scenario?
A. R1 does not have a route to 192.168.200.2.

B. R1 and R2 must each have unique AS numbers.

C. R1 needs to be configured with an explicit router ID.

D. R1 needs to be configured with a next-hop self policy.

Correct Answer: A

QUESTION 2

Which two protocols are capable of distributing labels for segment routing? (Choose two.)
A. RSVP

B. LDP

C.I1S-IS

D. OSPF
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Correct Answer: CD

QUESTION 3

Which OSPF database packet determines which router is in charge of the database synchronization and the transferring
of LSA headers between the two systems?

A. link-state request

B. database description

C. hello

D. link-state update

Correct Answer: B

Explanation: the Database Description (DD) packets serve two main purposes:
1.

determinining which router is in charge of the database synchronization

2.

tansferring the LSA headers between the two systems

QUESTION 4

Which two statements are correct about the behavior of I1S-IS metrics? (Choose two.)

A. Wide metrics enable interfaces to advertise metrics larger than 63.

B. By default, the metric of an interface is calculated based on the speed of the interface.
C. Wide metrics enable an interface to advertise different metrics at Level 1 and Level 2.
D. By default, all physical interfaces have a metric of 10.

Correct Answer: AD

Explanation: https://www.juniper.net/documentation/us/en/software/junos/is- is/topics/ref/statement/metric-edit-protocols-
isis.html

metric--Metric value.
Range: 1 through 63, or 1 through 16,777,215 (if you have configured wide metrics)

Default: 10 (for all interfaces except 100), 0 (for the 100 interface)

QUESTION 5
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How does a Junos device learn about MAC addresses when Il is first connected to an Ethernet LAN?

A. The device sends out a network broadcast message asking tor all devices and MAC addresses on the network and
stores this information In addition lo the interface from which the response was received.

B. The device learns the destination MAC addresses from traffic in the network and stores this MAC address in addition
to the interface from which the traffic was received.

C. The device learns the source MAC addresses from traffic in the network and stores this MAC address in addition to
the interface from which the traffic was received.

D. The device sends out a network multicast message asking for all devices and MAC addresses on the network and
stores this Information in addition to the interface from which the response was received.

Correct Answer: D
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